Rajasthan CET Sr Sec Level Paper 23 Oct 2024 2nd Shift
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6 ldentify the grammatically mosf appropriate sentence from

(A) Inaz week's ime 1 will have -:nmp'ls:ted my work.
In a week’s time 1 will be completed my work.
. (Cy Ina week's time 1 willﬁ complete my work.
(D) Ina week's time | willsgpmplete my work.
(E) Question 0ot attemple
7 Choose the most appmpﬁnlztlnmivc form of the word ‘Mistake' 10

The meter reader _ gl fora burglar by the landlady-
h (B) was mistaken
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(A) was mistook
j Thas mistaken ™ (D) mistook
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| 18 Choose the mast appropriate statement from the following:
| AX) A notice is distributed to the selected people in an organization.
(B) A D.Oletter is written by an authority to the employees of that organization.
(€)  *Yours respectfully’ is the appropriate subscription for an informal letter.,
(D)  The format of the date in an official letter is 01/04/24,
(E)  Question not attempted
19 Choose the mast appropriate word to complete the given sentence:
The boy crawled the fence to enter the garden.
A&7 out . (B) under
(€)  near (D) above
(E)  Question not attempied
20 Choose the most appropriate word to complete the given sentence:
His ideas on the link between art and culture in Asia do not conform the generally accepted
theories.
(A) into (B) with
= g (D) within
(E}  Question not attempted
21 Choose the maost nppmpriﬂfﬂ Eng[ish word for the giw.'n word:
=2
(A Abatzrmeqt /tB)"" Abolishment
(C)  Apartment (D). ~Abetmect
(E) Question not attempted
22  Choose the word closest in meaning to the underlined word from the given options:
During the course of the interview, she refused Lo answer the question that infringed on her personal life.
(A) ingested (B) Tntusf:d
,[C’}‘f saud (D} ingrained
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. __ 37" insurrection
. {A) insubstantial ik
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(C) intimidating
(E)  Question not attempted - .
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{A) autocatalysed (D) reversible
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26  The [UPAC name of the given compound is:
CHy—CH— CH,CH;
CH, <}
(A} 1-Methylbutane 'Z (B) Pentane
ey 3-Methylbutane = (D) 2-Methylbutane
(E) Question nol anqmplcd
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(C) 2010 ™ "‘Ef]r im” t
(E) Question not :ttlrd} ted / Iiairl‘mgm- i 2003 Fa )Y
28 Where is Dhirubhai Ambang Solar p N
{A) Dhursar ark located?
(C) Kavai (] (B}  Suratgarh "
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(Choose the most appropriale optio, Bon: Thermal Power plang in

piasthan?

(A)  Kota Thermal Pawer Plant below:) Ry

(C) Kalisindh Therran Power Play, (B)  Suratgar Poties Rlant
(E)  Question not attempted (D)  Chhabra power Pt
Fferfea i & v 1 T 1 T o
Eﬁqﬁmmﬁhﬁq?:} IR A foregd ey o
2 j ™
s mmﬁ—ﬂ‘dm e (B3) wﬁ%ﬂm |
) Felifig Ay i e D) N
(E) safrayg ¢ Brargy g WA

T19] # .




30

31

32

33

34

Which site of copper culture was discovered at the source of river Kantali at Neem Ka Thana?

(A) Bagor (B) Ganeshwar

(€) " Ahat (D) Gilund

(E) Question not attempted
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(C) oTes (D) fres

(E) idf@wa

Which of the following kings of Kamboj has created four scriptures of total 326 Paragraphs?

(A) Yashovarman (B) Rajvarman

(C) Jayvarman (D) Bahuvarman

(E) Question not attempted

Farerfrfiara i & st oh fohe T A et 326 STl 6 ST T Sl T T

(A) TS By TS

(C) SEEA (D) wEand

(E) 3w 9

Which temple is called ‘Mini Khajuraho® of Rajasthan?

(A) Temple of Kiradu (B) Rani Bhatiyani Temple

(C) Shree Nakodaji Temple (D) Ramgarh Bhand Devra Temple

(E) Question not attempted

TrrEaT & T @sEr fper Tfet 1 et AT 87
o g R (B) Tl e it

(C) off TR S Hi-at (D) TTg ¥ A =T

(E) ST :

How many true breeding pea plant varieties were used by Gregor Mendel for his experiment on artificial/

cross pollination?
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(E) Question not attempted / I W

Select the camel breed known {o have excellent swimming capacity in seawater.
(A) Jalori (B) Kharai

(C) Mewari (D) Malvi

(E) Question not attempted
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(C) Bhupcnd:a Me@ (D] J\tcﬂdel' Gupla ( :)
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€y &m b, d \ M S hred .
(£) Question not utlmn‘,\:ml / '}{&!Fﬂr(] a4
W Red |.1'|l_:-.sa.l cells of which-gf the following blood groups containg both A and'B antigens?
f it A1 e e e eTrer T Ay A war B AR st (S rm‘.[ 5 87
(A) B - /m,/ AB
< © ' (D) A
(E)  Question not attempled / 31l wa :
40 A person with blood mtibody I3 can recieve blood from the blood group of:
(A) BorOonly (3) AorBorABor & only
(Cy Oonly ) (D)  AorOonly
(B} Question not attempted '
o, st Foredk oo B iferefi &, Ft Ffire e 2 WA W 7 :
(A) FEEABAO e @) e AFB AMABAO
(€) FaAO ; py” FASATO "
(E) Staic W
41  Which one of the following is the State tree of Rajasthan? &
(A) Khejri i (B) Rohida
(C) Sanl II. (D)., Deodac :r
(E) Question nol z:llcqupt*-‘d [
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A solid right circular cylinder has height 17 cm and its radius is 8 cm. The cylinder is cut in three ec
(by 2 cuts parallel to base). What is the percentage increase in total surface area?

U 316 T e AT st Sars 17 Bt ug Frsar 8 St 1 39 At a0y el s Wit (g6 S
<) H 1T 11| et T Qe & i it wferara 7 27

(A) 68% (B) 79%

(C) 64% (D) 50%

(E)  Question not attempted / Jﬂ?ff'?i a4

Where is the Institutesof Development Studies situated?

(A) Bhilwara

(B) Jaipur
(C) Mount Abu

(D) Udaipur
(E) Question not attempted

ferermer sTeram e el o fRua 27

(A) fieErer AB) AR
(C) ™= 3T (D) &I

(E) dﬂ?fm M

Where is the Centraldnstitute of Arid Horticulture located?

(A) Jalore (B) Bikaner
(C) Shriganganagar (D) Chittorgarh
{rl Question not attempted

AT Y AT SEAH el ot fud 22

A @y e
A) TR .
l{C; HTTE @) FewE

(E) . 3 b £ Fashion TLILJ'IIIUI("!:)' situated in Ril[ﬂh”'l-'l.ﬂ'.,
. ash BY -
Where is National Institute 0 ®) Jaipur
2) Udaipur (D) Jodhpur
(C) Kota
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(A) Stable e : : 3
() Stages not affectiné e e o AT T ara geE 8 FH &
(E) Question not attempted Frit .:Efg:a'-ﬂ qracdl E{Té

FeeE £ 30 feafy 7 7 T @) oI

a7 A % o
54 rl\f:m is c;nsidercd s the father of ‘Ecology It lndlii}) Panchanan Maheshwari
(A) Ramdeo Misra ) C.V. Raman
(C) Lalji Singh
(E) Question not attempted
Freferfiaa # 8 ¥ & e
_{pw” e e
(C) TS e D)
(E) HHHa ¥
Which among the following is produced by a fungus?
(A) Butyric acid (B) Acetic acid
(C) Lactic acid (D) Citric acid
(E) Question not attempted
Fore § @ 791 O FA% 2 IeAed Bl 87
JE‘;’ S ®) il s
S D
(E) e ug WRRA

Read the passage carefully and answer i
g questions that fo i 3
S llow by choosing the correct option:

While working in the establishm
ents of Space Defens
: ¢ Resear i :
b o oo s e ch and Atomic Energy, Dr. Kalam found thé

:I%O found in all the scientists and technologists: fhey we re present here, in plenty. One common feature *=
: : aiy's : T B . o T :
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pPrecio . :
1y be free (o 1 dus_ tool; the more up-to-date knowleds® §
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Y ofaking o htinuing education, The second ways is ©© dg\-cl_n
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for mo O others, Historian Edi & P
Goedoatny o SLWaS freedom, & dith Hamilton wrot€ ©° ¢
i € can combat the forees 1y $ that there i8 g Omresponsibility, then Athens cease” "
conditions that py S that thregyey, o Ereat deal that £

omote individyg 0 most of us can do 10 10" e
1 i ., Ppreg S5C it
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Kalam i8 neither an orthodox nor & conservative religionist. He has a scieﬂfiﬁc l_emper blended mti:_
i 'lﬂnlily Drawing an analogy between science and spirituality he says, “While SCIf‘DCC.h&S N hla?u -
'F::r:uli’nninﬁ. spirituality is based on known principles; both of them lead one 1o SeCk. truth.” He 1s an mdmd_ua]
?‘,ucu with humanism and loved and renowned by the entire nation, wsthput any barriers of age alnd conununn;,lfi
windia must stand up to the world because 1 believe that unless India stands up 10 Lbe wor d, no on? wi
respect us. Only strength respects strength.” So said Dr. Abdul Kalam, the nucleanf sc!cm:st who.deuc oped
and structured India’s missile arsenal. He belongs to the world of nuclear weaponisation and has supported
the nuclearisation of India consistently.

5 According to Dr. Kalam, the element that was commaon be the scientists and technologists was:
(A) They had spectacular achievements ,fﬂ}/v;:cr; were not afraid of failure
(C) They were great dreamers (D) They were best in the world
(E) Question not attempted
7 According to Dr. Kalam, personal freedom can be achieved only when

o, You empower yourself with knowledge

b.  You free yourself from all responsibility

c. You develop a passion for personal responsibility.

d. You develop courage 1o be responsible for the work you believe in
Choose the most appropriate answer from the options given below:

(A) b, canddonly (B) b,dandaonly
JOr”" n,cand d only (D) a,bandc only

(B) Question not attempted
8 Dr K/njium supported nuclearisaion of India as he strongly believed that:
/[,M"' Unless India stands up to the world, no one will respect us
(B) Knowledge is the most precious tool
(C) There in a great deal that most of us can do to increase our freedom
(D) We can combat the forces that threaten to oppress us
(BY  Question not attempted
80  Dr, Kalam draws an analogy beiween science and spirituality according to which
i Sclence | based on questioning whereas spirituality is based on established principles
b,  Both are arrived at by not questioning
¢ Both lead one to seek truth
d. Both are habits
Choose the most appropriate snswer from the options given below:
(A) nd ¢ only (B) candd only

o and ¢ only (D) aandbonly
(B)  Question not attempted
60  Mateh List-l with List-1l

List=1 List-11

n, Conservalive L Using new ideas

b. Arsenal I.  To feel stronger

¢ Innovative IlI, A collection of weapons

d, Fortify IV. Opposed to sudden social change
Choogs the most approprlate answer from the options given below:
Ja't‘))‘n-w.b-lll.col,d-ll (B) a-ILb-1V,c-11Ld-1
(€) a=lbeIV,e-1,d-1 (D) a-MLb-T,c-Ld-TV

() eatlon not attempled
5 | P-T-O-
T # 13




ol

63

64

TI9) #

Join Telegram Group "HaryanaJobs.in"

S e e el
»d by Gurge ‘anal Project for irrigalion:
which of the following regions of Rajasthan 18 penefitted by Gurgaon Can ] g
ch L= ; o’ 5
. (B) Kola

(D) Bharatpur

(A) JmptE
(C) Jodhpur
: estion not attem ted ; ! s
\r]ﬁ‘w:?arfmf—rﬁﬁﬁn?rﬂ oy g A A ﬁ’i"ﬂmmﬂm‘*’
(A) A (B) e
() IR Wy T
() 3Fmie ¥
What is ‘DIGGI construction?
(A) A technique of Hand Loom
(B) Operation for restoring surplus water for field crops and :tgricuitur;ﬂ activities in canal command area
(C) Construction of pipeline for irrigation
(D)  Anew agriculture method
(E) Question not attempted
Fegnfy Fmon e 22
(A) T 6 G A
AB TR 3 vt st e 26 e st <1t T X T AT
(©) Fremn fom aresens 1 Fai
(D) e U 78 i
(E) aita 94

Which i5 the oldest Public Sec 1
8 ublic Sector '.II'IL]LE"I'.IL\'I“E of R'.Ii&l!ﬁll]&lu.: ‘(tll S
L \ i 1005€ Ihl.,‘ maost r.‘ppraprfal(' Upli(‘“ rro a

R'd".l‘».flhﬂﬂ Stite Gangg far Supa
ganagd gar ills Limi 1
I _ ir Sugar Mills l_ll'llllL'L

Rajasthan Drugs and Pharmaceuticals Ltd
dis L,

(C) Rajasthan Electroni

an BElectronics and Instruments
(D) Hinduslan Salts Lid, L
(E)

Question not attempled
TR FTHER [HT W o

w o ; i m E ‘ -
4%qﬂaﬂaﬁ3mi‘a?nw¥ﬁ-} b

¥ RS T IR firew fafie
(C) =T Sl ey i

- A ; (B) TS gt Wit fafire
i'l'h] St T fefiie (D) %awm@%ﬁzg :
he first satg)li K |
1e first satellite launched by India iny v
(A)  Aryabhan e
AL -
(C) II{S.—I
: ) (B)  Chandra
) Quektion noy atte .
Wit | attempted & TRALY
éfﬂifﬁﬂ\mm:w
(X7 srrivg s
(C) = =m
TH (RS RERIE
i | (IRS)- 1A 2 .
) Sl uy -
(D)
¥THE (INSAT)- | o
14

[ p.T.0:
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stance
el o P 5 s e talie cm. This di
45t distance of distinct vision (or the near point) for normal eye is taken as 25

The le t 25 ¢m from the €y&, the

increases to 30 ¢m for an elderly person. If the person tries to read a book at abou
image appears blurred. This defect of the vision of eye is called:

) Hypermetropia or farsightedness (B) Myopia or nearsightedness
(C) Astigmatism (D) Presbyopia

(E) Question not attempted

s @I 3 o (o7 e 231 it =pan 5 (an feke fig) 25 et oft STt 21 Uk g =Aieh % foe 78 gl 9@ 50
Hﬁﬁﬂﬁﬁﬁ%lﬂﬁmﬁbﬁﬁﬁ?ﬂﬁwwlﬂmmtHrufafﬁi“ﬂajJ‘cl?‘ﬁﬂ?ﬁﬂ%ﬁT%l';ﬁa':?
¢ 32 2T FHEa 8:

(A) ETETCHSITAT AT ZTEfE (B) Wit a7 e gfe e
(C) ufemifesn a1 sAfegar B ga T 41 sier
(E) i 94

Who introduced the final draft of the Constitution?

(A) N Gopalpswamy Ayyangar (B) Dr. BR. Ambedkar

(C) Alladi Krishnaswamy Ayyar (D) Dr. K.M. Munshi

(E) Question not attempted

Hifaam i sifaw w9wE (@) fomms g 4w o

(A) TH MUTeRETH ST By &1, . 3, e
(C) et Fom=THT SR (D) =T %. . Hyft

(BE) 3rgmfEawy

Which Fundamental Right was deleted from the list by the 44™ Amendment Act. 19782
(A) Right to property (B) Right to freedom

(C) Cultural and educational rights (D) Right against exploitation
(E) Question not attempted

44 T e HaEEE, 1978 % il ﬁwﬁlfaﬁﬂuanawﬁﬁ?mﬁ:waﬂqzﬁu

2T fear a2
AT Ef T AR (B)  TaesT 7 Stfirsn
(C) witpfaar iR Srefor safeerr (D) 39T & s svfrem
(E)  3qwiica war

gt =2 1 wfu - fa= fs
(A) G+3FfF A+

g +3fm
C) gwm+3 (D) H+3fw
(E)  orqfta 54

‘et f gy 8-

(A) e ABT @x

(C) =Fduma (D) 3=rfive
(E) i 94

(L W'ﬁm?{-
) AcqE (B) 3z

(C) = (D) =w:hfy
(E)  spqmfa ua

T19 | # 15

| P-T.O.




N
" 3‘1’&‘"{*‘
n o g ® v 9
s i D) W g
©) F ~
) e .
b n do a piece of work in 45 days and 40 days respegtiyely. They began to work fogether but A
72 A an ca "
leaveg gfter ‘m’ days and B finished the rest of the work in (m +I9) days.
The y#lue of m 18: 5,
¢ '
(A) b3 days (B) 5days
(C) 17 days (D) 9 dayy
(E) c@ucsﬁon not attempted . « ,
A s et =t @ am: 45 foet it 40 AT o qu T weRd & 1 ST A & Sl A, ‘m’ T F
a1e il oTg 2 & 3R B T & (m +14) RAt T o @ 8, dlm FHH
a) D fem B) 5
© 7% 2y 9 f
(E) ofpafa v r~ 7t
73 One wéming just after sunrise, Ankit was standing facing a pole. The shadow of the pole vwas formed on the
lefi side of Ankit. Which direction was Ankit facing? ™
(A) (;::SI (B) No py
© uth (D) East o
(E) uestion not attempied [~
SRR % e A o e s D S i
e o i s T e ey b, (+)| B HAf SR o
(A) Chifim -
(C) “ A8 3W
) siaws ©) @ N %
4 IS February, 2018 was Thy
(A) g—;day ¥, what was the day on |9II1¢pr“ 2019 9
(C) CSunday (B)  Satudday
(E) [®uestion not altempted (D) Thur&fhy
af | ~
Fﬁ?ﬁ!ﬂlaﬁwm!ﬂlgqhz ™
(A) ng_aﬁﬁ?_mf&?%
B) wfEw
E) eFTiawy D) TRy
75 Whicihlace of Sikar is famoys ¢ i
(A) Qipmli 8 for Eola i-n-d'l!su-y? o 80
© dela o
B) N
E .
) pRuestion n; altempte (D) ““l"'@
(A) Wl fom sz 8, ()] |
421" diey ™ i
®)  ryifen g ®) oy 4
9| # (D) qz

(]
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Choaose the most appropriate English translation of the given sentence
.

76
efaat et SEE 2
(A) Faults can't be easily found (B) It has been easy to find faults
(C) It's very easy to find faults /(,J-H/ It's easy to find faults

(E) Question not attempted

77 A sum of money amoumts to T 6,690 afier 3 years and to ¥ 10,035 after 6 years on compound interest.

Find the sum.

O T TS 2T | A 39 3 6,600 Ud 6 91 & 9ATT T 10,035 71 A1 £, B GECIEE e

,V:r/u,mn (B) T4,900

(C) T5.000 (D) T4400
(E)  Question not attempted / 3wt w4

78  The price of a gold-bisculit is directly proportional to the square of its weight. A person broke down the

gold-biscuit in the ratio 0f 3: 2 : 1 in terms ofits weight and faced a loss of 7 4,840, Find the initial price of
gold-biscuit,

H‘rﬁ?vﬁ%ﬁ??ﬁﬁwﬁm%mm%ariiwm O St ¥9 6 F Faepe #1 3 : 2 01 srur # drear
& S aTT & i 38 2 4,840 Fr B 2 A % fareage o s e s 2

(A) T7.200 (B) 7920

(C) T 8,000 (D) 7,000

(E)  Question not attempted / AT 94

The DErcantn o Ao + KT icle for # - s 3
7 The percentage profit earned by selling an article for 2 1,920 s equal to the percentage Joss by selling the

same article for T 1,2800At what price should the article be sold to make a profit of 30%,9

et o 1 2 1,920 % A= qr sifka Sy 1 afv 5
I o e v ST s e 30% wnd S A

-
(A) ¥ 1,900 ’,ﬂ'h/ez.nhn

(C) ¥3,500 (D) 72000

T3 e r_:m#?aiwaﬁqm?ﬁmwmmmm

(E)  Question not attempted / ST T4

80 Meja dam has been built 8n which of the following rivers of Rajasthan 7
(A) Kothari (B) Javaj
(C) Mahi (D)  Parvay

(E) Question not ;ulcmpwd
ﬁmﬁqﬁgaﬁﬁ!mmaﬁr%meﬁmﬂmﬂmwa?
w7 Frardt (B) o
(C) o (D)  orEH
: (E) arafta ug
.Il)l # 17 [I‘.'l'.“.
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aboul desert goil.

cloct the most jnCOree:” i
select e == g more salimty: , :
' { of desert soil.

81

u i I) I eI
|I¥'\.'\|‘..!“tll'l are ‘\.:l)n-‘\‘idbl"-d L,(L:annl IUr tllll. 1m '.'(']\l’c ne
] ana kKt &

1 i found 10 castern Rajasthan.

goil 18 di-_iplucud by wind.

1 q » ‘ll
(E) Question not .ﬂu.njptu '.
wrr%ﬂm%ﬁ‘ﬁ el A
SIERE arft i B
(A ™ e R A S y
S A AT A Jﬁaﬁgwﬂzﬂﬂmm 1

(E) GRS
g2 In Rai,maih:m_Ta\c‘n‘nuppcr wildlife sanctuary issituated al __——
(A) Churu (B) Sirohi
(C) Jaipur (D) Bundi

(B) Question not attempted

mmﬁmw?rﬂﬁmm____ﬁﬁf&m%'?
% (B)
© @) &

(E) SFERG %4
g3  Choose the most appropriate one-word substitution of the given sentence:
A portable case for holding papers, drawings, documents elt.

(A) portiolio /I(Fﬂ/‘
] wardrobe

(C) Dbricfcase o
(E) Question not atiempted (D) rack

g4  Choose the mos ;
Ca_mm the most appropriate word which is o e :
D ieneraes s opposite in meaning to the given word:
;\]/hctmctiun
y  Applaud (B) Comf
‘omfort
(E) Question n
S ol atte O >
- empted ) Derogatory

Which of the following i
owing is th .
(AY Minimum | C 5 € most appropriate fo
(B) Mini haracter, Maximum 3| ¢ r the name of Excel sheet?
vin - : K
imum 2 Character, Maximum 19 (hmm:'.uT
:lnl"\,[r‘c
aracter

(Cy  Minimur -
“1 it
Character, Maximum 27
27 Charg,
aracier

V /4

(D) Min g
e m:mm 1 Character, Maxiy
) ;;1:\11011 not attempied S it
[GILE iﬂl A . e
th s B 1R vt g UL
L A, ey o A S
/M A 2 A - T %?E‘ H
7. , St o ‘
(E)  srmi uy i o e
2 af, 19 =0t

e
9y # (D) =2 | oot Sl




move from One slide to the next during on-screen

1 a special effect is called that occur when you

entation? (Choogeghe most appropriate option from below)
Effect - (B) Custom Animation (:;
Present Animation () Slide Transition -
| Question not ﬂlmpted o
s refn % A ﬁgﬂmtmﬁmﬁaﬁmﬁmﬁwﬁﬁ?h
e 1t 41 ) r-4
\) TR =4 (B) e o
o) ke oy Tz 2
gy SRt WA
e is the : cut key that hides the selected columns in Excel. 9|
 widmwe mﬁwﬁmﬁmﬁwm «
At+H O ®) F2 ©
(€ Cul+0 (Zerd)™ (D) Shift +F10 ?
(Fy  Question not Kttbmpted / WA EH
statement is NOT true about the different types of MS Word Alignments?
-

Which of the follow

(A) Center Alignmen gh will be aligned to the center

{ All the lines of the paragra
h will be aligned including on the right

By Right Alignmgpi- All the lines of the paragrap
() Justify- The nw {eft side of the paragraph will be aligned including the last line. &
(Dy Left Mignmc@bﬂ.ll the lines of the paragraph will be aligned on the left b
(E) Question not qpmpted <
mﬁﬁmmmﬁﬂw%@mﬂwﬁh#aﬁﬁmzﬁ%- =
(A) HH (O oy el el oA e o et B E_:
@) e £y el e 2 i Ll R
[y itz sryedn afteft 7P wdﬁmzﬁfﬁﬁrﬁ s ufm i afifea @ e
(D) wmmﬁmmm iy dfemerg BT
(B) wrpufer s N ; ~
#  Who imposed cm@n '~ on the farmers of Bijolia in 19037 p
(A) Jogirdar Prith (B) Sadhu Sitaram Das =
() Maoharana FuESingh (D) Rao Krishna Singh o
() Question not gitgmpted ™~
Wﬂﬂ.imhﬁqu;aaﬁaﬁtfwﬁwwm i
Dy e qud 4 (@) an T o
(€ T g fe oy T g f .
. ‘\tul\ st N
0 Wi . - 8l o .o
A x;;‘:r‘zrgf?emor otj RaJasLhun'? (Choose ﬂ;; mossriaj?propriate nph‘on frorm beleiv:)
B Bw Man Singh ) Shri Gumr_nuk_h Nihal Singh €3
® oul m ur Singh (D) Shri Kalraj Mishra @
mfcs\mn not memd . ™~
(A) ;ﬁgﬂmmﬁ”ﬁﬂﬁﬁmmﬁmﬁd g
© ﬁhmg:m Sy e fer e vt
® sefews (D) it e A
[ PT.O-

[o-

Ty
' #
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9
3 1 SR AR o
1 Freferfias 3 & T or@d o
a.  EEU g S
C: ST .
13 R e et & AT S SRCTR @ Feweshtd
(A) mhmf /M N aaﬁ“{c
(C) Faaib,cHd st
(E) i ¥ L
it B 37 A 36 ST o foT U reE .
92 mﬁamm ! p g
j—; S (D) G
(E) 3FHia oA o1y in in 20277 10
93 Which country will host the FIFA Women s World Cup in 20272 .
(A) Brazil (B) Australia
(Cy South Africa (D) India

(E) Question not attempted
e wieen fa =9, 2027 ) ST 1 TS RO

(A) T

(B) SEfomn
Gy =T snhE (D) W4
(B) IFERawx
94 ﬁﬂ%ﬁ?‘lﬁ?ﬁi{a‘f@am?_ 10
W) whard § gt et oy v st
&) BN w4 (D) WL ST SET 21
(E) et wa
95 o _ﬁrm%aqﬁw&mwaﬁhw_
-.-m?ﬁ@.@maq,
(A) & g v oy 3y
() “‘E“‘Wﬁr:én\‘maq;w (B) U Fedree dicit g=s1
(E)  nfaun = Dy~ R U A ey
96 ‘L‘Ulllﬂuﬂm‘n L 3 ) "
Ty mﬁﬁwmqm <
S e T T e i
(©) W=t
2 ity ®) i
N ©) if
,ﬁmusgm,ﬁw,
R’ T 2 8- |02
¢ '-ﬂ?h'-{m
€ Ffay b we=
4 fay M Firrs d
P 5 8 v ) Sifia=
[:1. ‘*'l'-h_'nmu i) I 3y T -
T b
Lb¥Em o
(B)  somtog gy AT 3
L CTT: - (:?#Wh.dsﬁtc
) %-F?Tﬂu.h\'&ﬁtd

2
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08 F[‘dﬂ e Wﬂﬂt{] atef &-

3 (B) W’Tiﬁ”q\'
M\/a—.faﬂqﬁ»mm D) mﬁqﬁaﬂmwm
() T e

l ! I 1 s | | 1 \‘[JU l[ CUI]ll‘I‘QﬂCL‘. Hnd [lxhibinl}]l ..,:",...' 4 ‘.l'l
99 Which City wWas L I s ] & i
i (B) | dly
(A) Mumbai, India B Ihl )1 UA
_ondaon,
(C) New Delhi, India (D) UK

(E) Question not attempted

2 e staie ST (AYUSH) Feer @ WaTHT 2024 §% 412

75,4, T3
(A) Tﬂé.m ®B) 3 kS
‘LL;T/TJ'IﬁFEﬁ,\WH

(D) oA, I
() ¥HwiE o

100 Dadu Dayal wasbomat
(A) Bikaner
(Cy  Ahmedabad

(B) Kota

(D) Nagaur
(E) Question not attempted

(A) HEmrH (B) IEH

(D) AmRH

Sy sewaEE §

(E) 3FaME W
101 The most appropriate statement about thalassemia is:
(A)
(B)
(C)  Thalassemia patient requires frequent blood transfusion in order to survive
(D) Thalassemia gene is present on Y chromosome.

Question not attempted

Thalassemia patients are able to manufacture normal haemoglobin,

Thalassemia is caused due to defect in RBC producing genes.

(E)

et & s wed 3vae w4 w1 = R

(A) it Gt quare Stetee sem | T e )
ABT” SR E (RBC) 3o ot aret =1 | mmxmﬁaﬁﬂﬁmmma
(C)  ereffira i vy Sffire i 35 Fere, AT a3 =
‘?‘ Wl‘fﬁ&’ﬂvﬁiﬂfﬂmﬁuﬁﬁm%q
LE)

HTIIIHAT Bt &
HATIE 0
10 The ge ‘.. .
Eenes associated with colour blindness are located on
|\ ) X-chromosomes ®) :‘—._.___
(©) " Mitochondrial pN A o = Chromosomeg
i.l"-‘_ Question not atlempted ) Autosomes
TREMER_ wherand
(A) X romegx il
167 mersife (B)
(5 TER A A (DNA) Y‘T'PE'
) i (D) ity
o) Ty
{ lt.'fJ | #

2]

[ PT.O.




103 Inthe following reactions -

i AR A -

i) Na+3Hp ——2 N3
(1) 2580, 403 ——250;

N
s - =1
Which reactions Oceur in presence of catalyst’
el AT 3P )t et &

(A) (i) and/T (iv) B () and 7T (i)
(©) (i), (i) and/am (i) (D) (i) and/a9T (i)
(E) Question notatempted / H?Jﬂﬁﬁﬁ%l

104 Cll;[‘ll:(}” 2 Alkaline KMnO, + Heal )CH;_COOH

In the above reaction alkaline KMnOg4actsasa
(A) oxidising agenj

(B) Catalyst

(C) dehydrating agent (D) reducing agent
(E) Question notidgttempted

wfi KMnOy4 + == :
CH;CH,O0H ————4 > CH;COOH
ST AT & KMnO, = B Y 14 F4aT 2
(A)  SEdED T
€y e T (D) 2
(E) ﬂiﬁ'ﬁ'ﬁ‘lﬂ e

ST FHFH
105  Which of the

followitlg pair will give displacement reaction?
(A)  AgNO; solufioh and copper me : :
i e By cnppz[::;z:l{al (B) CuSOy solution and silver metal
(E) Question nmlauumpwd © Fe504 solution i pper cta!
X w a g J - :
Pt 3 & ey eyt e sy ~
(A)  AgNO, ferd s : it ;
AgNO; T i AT () -
(C) NaClfs + I > - i
NaC1 forerar aﬂxm(mm@ (B) CuSO, faemm sii =it (Ryeam) w1q
(E) s/ wfmws 4By~ F :
1 . eSO, ferer 3 amy ()
106 Aquaregia is a fres 2 s
S8 18 @ Ireghly prepared mixture of o] :
— Tespectively. concentrated HNO )
ma:x;,‘hu;wwau(-m _ 3 and concentrated HCI in the ratio o
a1 8 > =Rl ~ ﬁ = i
: ER: i -
Ay 2:1 wel e = y i[f%i!ll (SIE[IIEI)‘ El
Cy 3.9 " .
= . v
(E : ’ :
- ) Questipp notter drs B 3.4 L8 )"
A set of “':P'b?'ﬁls:p ple | ST ey D) 1.3 r={
s roce s
l? Software h.ﬂ.'? ceedures for accompligh,
‘” I Algorthy,
)

Eatask is known as
(.]I:Il:\liun not

v B) g .
T gy R?t:'la;cmp"‘-d ardware Progran,

(iv) Hp+Ip —_— HI

A Ui g b R (R ® Fimware Program =
PR LI E SIS o
: ‘:_'thq rj‘ T 5 [~
(E) 1 Fﬁqm ey
- A rf e sy -l (1) T v
T19) 4 () BIEA4T sy -—-.._r_ﬁ___J
P vy .
~
22

112




Join;Telegram Group "Haryanadobs.in"
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108 Which of the following p

109 Which of the following

air is NOT correct about the keyboard keys?
(Choose the maost appropriate option from below)
(A) Command Key - Caps Lock

(B)  Punctuation Key - (;) Semicolon
(C) Navigation Key - Page Up (D) Control Key - Tab
(E)  Question not attempted
A 0 3 e
(A) FHFE & - Caps Lock (B) mﬁ_ﬂ:{ﬁ - (1) Semicolon
(C) A (1) # - page Up Dy HI i - Tab
(E) 3w wx

IS open command in MS office?
kﬁ!ﬁ%ﬁﬁﬁéﬁ@maﬁ&qﬁaﬁwmé‘?
) Curl+0

(B) All+0
(C) Shift+0 (D) Tab+0
(E)  Question not attempted / STqaRT g

110 ﬁqfr-rr“@aﬁf%ra’mmaﬁa?rnﬁwq?ﬁ%-
(A) & - o (B) TE-7g
L&Y 23T - Wty (D) Ycaer - gy
(E)  wfte wy

i ﬁtiﬁfﬁaaﬁﬂnﬂamamq:aﬂ?-
A) F= ﬁBT'"tﬁ
©) e (D)
(E) 3]31'{&—.—11;[34

1 When ajr in

between the plates of

& capacitor is replaced by mica of dielectric constant 4, its capacity -
1A)  reduces to L SN Deconice 4 gl
(C) becomes 2 times (D) remains Rl
E)  Question not attempted
RS 32t g o, o ey T o s e
B L ABT 4 TE B S
(C) 2T‘FTF'TWT—T (D) Waﬂamﬁ
(E) T gy
Who i known as the father of the Indian space Programme?
.:: [;r_ Horn: Jehangir Bhabha (B)  Dr. Satish Dhawan
o Q; \.rllkmm Sarabha; (D) Dp AP.J Abdul Kalam
o tstion hutallcmpted
'*..l ﬂ?ﬁ"ﬂ%ua-maaﬁw &1 faem &

"frrma—f-frh,m
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areas of Churu, Jhunjhun

o

Nhich dialect is spaken in the

ost @ppropriate option from below:)

u, Hanu mangarh,

Suratgarh and Ganganagar?

|

(Choose the m :
: (B) Shekhawali
(A) Mewarl \ : ;
_ (D) Malvi y
(C) Marwan : !
= o B od
(E) Question not attempte _ 2
! » e - s %N 3 a:‘:
A ?.W.W-WWWW“WW” B (e FaR IR D
. : LR
FrEEre
(A) WarEl By
) wad (D) FE
(E) SaHa 34 '
5 What s the reasor far the popularity of Allah Jilai Bai? :
{A) Mand Singing (B) Kurja Singing
(C) Playing instrument (D) Dance
(E) Question not attempted
e T aTé S S eaT 1 R 4 87
XY WiE TER (B) T TR
(C) dma 3= a= el D) =€ G
(E) oA A
116 Who founded Kamac:_lla Panth?
(A) Mallinathji
allinathji (BY " Harbuii
(C)  Tejan
, (D) Ramdevji
(E) Question not dttempted !
Fratea oo 1 Ty e o
(A) Hieeams ™ .
€) TR o (B) ®gL .
: . TEE ot |
(E) SFEA 94 A s

117 Which oneg ui‘lh‘ f‘(l ‘ 1
e "D\'\'ﬂlg lﬂdl:!.l'l Pamlvmpian h 15
s S Won two gold medﬂlg il

(Choose the mos
the most agj:ropriare option from

: k
(A} N 1shad Kuma" )Eluw]

(B)  Yogesh Katuria_»

1| the Paralympics 20247
l.

1C)  Devendra Thanjharia
(E)  Question nof altempted e Nﬂnvai?
ﬁﬁﬁnﬁaﬁhﬁxxmﬁm&nﬁiﬁquq‘ | fersred
i~ : A M 04 3 : }-ﬁ:r 3ITGH
- 2024 B 2 w=qof vaer sy #9 0§ gad :
o ﬁm,mm?m i IR g <)
(E) Aoy vy i
(D) wefry sy

9| H#

24

[ P.T.O:

118

119

129

lzl

Tlgl

EESRTERY

t e L e

= = P g e~ e~ o~
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{18 Match List-I with List-II
List-1 (Country)

a. Mauritius L
b. Seychelles il
c. Maldives iii.
d. Indonesia iv.
11 71 et 111 3 | it

it-1 (@) '
a e i
b HireH i
c. Hoed .
d  F=rfmE

Choose the most appropriate option from below:
e 5§ 7aR 307w faaed &1 =999 Fif

List-11 (Capital City)
Victoria

Jakarta

Port Louis

Male

qEt-Il @A R

™~
S i
Q'P_;ig o
HIed —

(A) a-ii, b-iv, c-i, d-iii ( a-iii, b-i, c-iv, d-ii LM
(€)  a-iv, briii, c-ii, d-i ":F?JT a-i, b-ii, c-iii, d-iv S 4
(E)  Question not attempted / STARE 94 C
| 119 Rajesthan State Allied and Health Care Council is constituted under ._
(A)  National Allied apd.Health Care Profession Commission Act - 2022 L
(B) National Allied agdi{Health Care Profession Commission Act - 202] v
(€)  National Allied and\Health Care Profession Commission Act-2023
(D) National Allied and{Health Care Profession Commission Act - 2020
(E) " Question not attempted
TTS¥4T 2 STEgE Uz ReashaT F1Sfee 31 34 (19 032 % aq far e
A) T FeTss Uz FeusaT YT FHIEE T2 - 2022
BT TS aremeE U Seudat HihY I R - 202
() Torrer srere vz Fekr TS FHE 0 - 2023
D) e stere vz et SrRTH FHIYA TR - 2020
1o :;’E('ﬁmgﬂ I 1 - 1 : ‘I
Jovernment of [ndiais planning to implement a new highwa e
'I'-‘:'ll'-no:sf;: If E?;E:w -[h'L..J"',.m., ."ppn}prfﬂrt' option I'ru;jn b.;m“,? ARl Ic‘:r-"?" SYstem based on which
= 3 ommunication ( 3lohs oy e '
) Radio Frequency Identification lD)) :;:I:bd:j {qm.'lgm.m“ Satellite System
E:‘]“ Question not atterfigted Code Su.arlmng o
LRI U 1 e ater o ToTTelt 9t - N
:f:qnqm :Twmmgm ﬁwwmaqﬂﬁﬁ%m e s
Al ‘ﬁﬁlﬂﬁﬂw&m (B - a . %
e PR SreeARr e ) TS ey ﬁiﬁﬁ‘m@
w D S e ©) Ty
\ on 1;:;:3%?4? condbiled a successful test flight of the Ind; 5—1
= i 247 i ndigeneoys Tech ) _
e ) &) Odisha "Y98Y Cruise Missile (rrem
”-:: Kamnataks o (B) Andhrg Pradesh
L Qu:;!:{”n not zm._-m'I ed (D) Rajasthan o
{r L -E""T 5 % 2!}34 ﬁﬁiﬂﬂ T W ihﬂl!‘ﬁ (Ire ~r
| P.T.O. \ u._: Wiew Ff (1) :%('?JWWMWWW
LTI it S (D) ey E
) ~
v~ 25

(s )

™~ | PT.O.
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. SRR
122 Todgarh Raoli Wildlife Sanctuary 1S located 10 ¢

(A) West Bengal (B) Chhattisgarh
(C) Rajasthan (D) Assam
(E) Question not attempted 5 _
e A g ST feard 21
(A) TfEm T (B) ®BHETe
ey UIEIH (D) rad
(E) 3w 94
123 Who hLL:':hCCﬂ appointed as the New Chairperson of CBSE, in March 20247
(A) Rahul Singh (B) Vinay Kumar
(C) Subodh Kumar Singh (D) Navneel Sahgal

(E) Question not attempted
o 2024 ¥, Hi. =1, W é.#w\-m#wmmﬁWMW?

(A) T e (B) FaFAR
M gﬁm FAN o (D) Fa-1d HeTed
(E) 3FaHa 94
124 Who became the first Indian to win a match in a Masters 1000 Tournament on clay courts?
(A) Nitn Kirtane (B) Sumit Nagal
(C) Sagar Kashyap (D) Ramesh Krishnan
(E)

Question not attempted
1 () =0 & | 1000 ZAtHe F &= S J1et WO H WA i 82
(a) T s

(B) gfHdAnTe
7 AR FEy

2 : (D) &I FWH
(E) SAdRa 94

125 *P' is the centre of Circ ' '
15 the centre of Circle, A tangent is drawn which touches the circle at *‘M*. If Z BPM = 70°, then what
i1s the measure (in degrees) of £ DMR 7 .
UF 99 &1 2 P £ U Tt @i sy 2= : :
i 79 #1 M 9 2991 41 21 afE £ BPM = 70° 2, @ £ DMR &
B D
™M "
(A) 60°
(Cy 750 (B) 70°
(E)  Question n,
g ot attempted / 2 2
. attempted / STafra s ABT 55
6 1If cCosec B + co
10 =
) M, then find the value of m2 _ |
a7 cosee O + cotl=m & > m2 =4 m 4 1
5 ———
ﬁ(‘ cosB m2 41 qumﬁhtg
C lani}
(€) (B cosecH
(E)  Question ng m 1
Bllempled / sy
9| # pied / sxgeten (0] glaind

26
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01 If ‘ﬁ ; (wf; 22.35, then what will be the value of J\E +41257

afz J80 + 65 =22.35 & 345 + V125 =18 | e :
¥ 4 : I -4
P
!

1788 (B) 22.88 -
(Cy 25.88 -
C) J (D) 16

(E) Question niot attempted / 399HF 99
w3 -

128 What is the difference of Median and Mode for the given data?

A 180 8 311 fores wfeeran we sreeren i ey ey 20

90, 94, 52, 68, 80, 94, 52. 65, 87, 90, 70, 52

(A) 25
(B) 27
() 29
APT 23
(E) Question not attempted / FTTf g
m Er.Y 3 3 )
s =S [T theR® oy =9
x - p
o \ - 5
g = 2 1 FTT_‘.-‘+1‘:J
V X
(A) 1
(B) 1
(C) Ty
i . (D) o
I Question ngt attempted / AT 95
2
W [ |
| what '1t\=|u;n[’|-—l———-—'————|—-! ;.
. |l‘1£ Fug4 72 logg 72 | A
I :
AR Kaermt —‘——l—-— i : -
b3 1~ |“L~'1?2 |n‘,__-h',.'] | EIRICE £
(A) | L
. (B) 2
1y 3
(D) o

Question rigy attempted / S 757

In st
"TL‘ give

0 figure, if PQ || RS, ZQPE=128°and ~p

ER=]4g0 1
N f »then ~ SR I8 Bqu;
p % IR || RS, LQPE=128°W LPER=1480, 5y |
< SRM =17a 2!
|
4 ‘\- |
U9 ; -
( | 9o '_ /"‘n]/‘fjhf- |
i d L& )

(D)  ggeo
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>

1x~3y+6=0 and the co-ordinate axes IS:

; by a line & '
gle formed bY () 7 square units

rea of anan
3 square units

4 square units _
10 square units (D)
uestion not attempted
‘,‘_\Q 3}'-"{1=ﬂ' £l ﬁ‘ﬁ%qﬁ ﬁ&ﬁ%mﬁﬁﬁwmw%
 amieEt I LElE
y o= ECI (D) 3 1 3hTE
y e T
ake the given st atement
‘hen decide which of the given conclusions
statements:
No paper is car.
All cars are marker.
Some markers are erasers.

< 10 be true even if they seem 10 be at variance from commonly known facts.
the given statements.

logically follows from

Conclusions:
1. Qome CATS are erasers is a possibility.
[I.  Some papers are markers.
(A) Only conclusion Tl follows. 3 -
y (B) Both conclusions I and IT fi
B Nt : - sions [ an follow.
either 1 nor 11 follows. (D) Only conclusion I follows.

lé'-q Question not attempted

3 : T AT & e v et B, 36 :
oA st = R A =y oT$ ST &1, SHek T4 i+ fa e et | god
=R

FTE TS FLAR B
T T WL B
5 W S () Bl
e
L 7S I ST (TAT) Bt :
i gmmi:mmwai
(A) e T 1 S Y

1:; qmmsﬁ;:ﬂnwmwmm Mﬁ'ﬁﬁﬁlﬂﬁna‘ﬁ‘im@m
mfm‘: (D) mml&i’i‘qﬁ? |
AT 8|

134  In a certain code, ‘he made good m
Oney

Save some money” is wi 1S wri
Title: . £ 2wt .
the code for ‘some"? e LT len as 1465
qi:l'{l faﬁmm i'I he e
£00d mope

"must save some s S
Ftefan aney ﬁ")g?{,‘%];!;] ' 1465" ferar sy &

", *he must b

S e ¥
W good” i writt "
1S written en as ‘9421°, ‘must

2ood saye
grace’
asg ‘24873’ :
83", Which of the following 15

e e
,M'i FIE BT m?ﬂi. begi_‘]ud _ ‘he mugtbegm i
€ 9 Save grace’ @I ‘2483 od" Y 49421 * firag e 2.
(E : : %r@-r
) Question not attempyeq | (B) g 2l ‘some’ & it

138

139
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“Pivot Table" is a feature of which of the following software?

(A} Microsoft Word (B) Microsoft Access

(C) Microsoft Powerpoint (D) Microsoft Excel
(E) Question not attempted
foer i o e o s ferr fivrz e 2
(A) TSR 98
(C) WSS STataTE=
(E) ﬁﬁfﬁl b i

i

7 Which of the following is an Input device?

(B) WTEARIETTR U
y.;f" HTEeh IETIE UART

(A} Pnnter (BY Mouse

(C) Visual Display Unit (D) Speaker
(E) Question not attempted

Prfefiaa § & = € e feama &2

(A) = 3y w3
() fasere feast gfe (D) el
(E) aTgaie vd

138  Which of the following command of Excel will take you to the previous sheet of the work book?
e 7 e & & I °T FHATE STl S IR i feei oftz g = srom?
(A) Alt+ Page Up ABy Cirl + Page Up
(C) Tab+ Page Up (D) Cirl + Shift
(E) Question not attempted Wﬁ'ﬁ Rk

+ Page Up

% Choose the most appropriate option 10 fill in the blanks:

He looked at me with __horror when 1 explained that [ was double agent. (x = blank)
Ay x.a - (B) the, the
) —the, x (D) a,a

(E)

Question not attempted

Choose the most apprapriate option 19 fill in the blank:

L Ineed to buy eggs but 1 haven't got ___ money to pay for them.
( (B) al .
. (A) any, some L, little
©)  few, alittle (D)-r some, any
; .
:é ' (E) " Question not attempted

T -1 =gt -1 & gwfea A
A1 (377 7o)

a hmma_aﬂﬂﬂi' I

ATy
b, Forma wr o A 2 1. ey
c. N AEA et 8 HL arare
_d 31 Fart wyr e 201 AT R IV,  sffiefy
% o o Forenit 3 1 s 3T 3 A
@ °-1V.b-Lo-md-Ii B) a-IVibomcmmd.
'i. a-JILb-Le-1Ld-1V (D) 8-Lba1l,caqv .I‘.
p.1O" y, | SEfE I d vd -0
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144 Rakeshisson of Aman’s father’s sister. Sonu is son of Disha who is motheriof Gopal and Grandmother of

Aman. Aaray is father of Tanya and grandfather of Rakesh. Disha is wife of Aarav. How ;s Rakesh related to
Disha? o
b <3

(A) N (B) Nephew ot

(©) Colsin (D) Grandson o
jon not attempted ™
@mmﬁmmm\@m&mm?mmaﬁwaﬁmﬁmm I A F
mﬁm%mﬂttmﬁuﬁﬂﬁm%mmﬁmuwmh
(A) ST (TS (B) W= (Wefi) 7

lC) mﬁmﬁ BT T (1) o
145 From en options sclcct the bo =
’E P X that can be formed by tnldmg the sheem'ﬁown in fig (X).

™

ion not attempled /
N It
(A) s+

e
() v

9| #

19170042 191 70042 19
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Kolleru lake is situated in which of the following states of India?

(A) Rajasthan

(B) Andhra Pradesh =
(C) Tamil Nadu

(D) Odisha
(E)  Question not attempted

Frore Ziel W & eterad o | fod e o feua 22

(A) TS By ST
(<) ;iiqu:l[‘;

(D) 3nfEem
(E) 3wt 94

148 Which one of the following west flowing rivers has the largest catchment-area?
(A) Periyar (B) Sabarmati
(C)  Bharathappuzha (D) Mahi
’ (E) Question not attempted
i S [N -y . :
' FTeTREd B 8§ =i i afem £ 317 e aref 72t &1 798 w21 semaora 29
(A) ufEm (B) Hr=Hd
(Cy waTEm BT A
(E) =i ux
| 49 Mushroom rocks, shifting dunes and playas are features of which of the following regions of India?
(A)  The Coastal Plains (B) The Indian Desert
(C)  The Peninsular Plateau (D)  The Island
(E)  Question not attempted
T A, TR G Fe S e e ¥ R & GAEZI E o S e——
(A) wdafen --ﬂ‘!’i’ﬂq]‘z_a-rq' q UHeere
(Cy Pt -
) UHEENE gER (D) &y
E)  safaay
By o
F‘J"lt'h\'[uunuu ak v thic £
&4 Peak 15 situated in which of the following Teglons of Himalayas?
lA)  Arunachal Himalavas B y :
yas {8)  Himachg) and Uttarakhand H g
€)  Kashmir Himalayas D) D St
: aneeling ; A .
E) " Question not altempted 8 and Sikkim Himalayas
e . S P
T Fa e 3 fsferta & 4 fag & 7 fearer 30
Ay - i
A= OTery
s : (B) fﬂ'ﬂ:‘q::' i
) it ey s 1 ITEE fererg
| P.T.O: ® . -
. AT
) i 3
4
]

[ BT.O,





